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AR 20134 9 H 17 H
B & 4 | B | TR & T E 4
1 TAT AT F g2 [ /NAE| N 2 4,500,000
2 Fo bt —7 2 | BIHIE | K 2 3,900,000
3 T ILanL ) B2 | BGE | K 2 3,130,000
4 NIV A A 2 | EERE | MR 2 3,040,000
5 XayTATR=A 2 | FFR | IR 2 3,000,000
6 INR—2 P T —)LR g2 | sk | gy 2 3,000,000
7 TS o | HIA%E| K 2 2,875,000
8 AF R~ g2 | /NE— | AN 2 2,530,000
9 TTURNY 2— oo | KHZEE | KIE 2 2,500,000
10 IaARIT L F #o2 | AR KIf 2 2,500,000
11 avRNy—LF A o2 | HRHEE | KJE 2 2,500,000
12 N—I T 2 | BKEM| K 2 2,500,000
13 TAT AT FaAfA Yoo | EEAARE| KO 2 2,500,000
14 =ty WL EE RS 2 2,500,000
15 TIARN L — B2 | | KIE 2 2,500,000
16 7T TR o2 | ERHE | KIF 2 2,500,000
17 TVF AL A A o2 | BRE | KIE 2 2,500,000
18 V=T AT TT — B2 e 2 2,500,000
19 o= — Ay 2 |JISIE | #iE 2 2,500,000
20 v VautA fo2 | HHE] I 2 2,500,000
21 TAT TV AN RN 2 2,500,000
29 FF—)L) 2 | R | N 2 2,400,000
23 RyRL— = 2 | WUGE | KIE 2 2,110,000
24 Ko ) a—< o2 | e KOt 2 2,100,000
25 TIAA o2 | GE | KIE 2 2,083,000
26 TN—T 2 | I IR 2 2,070,000
27 V—RA4T7HRay g2 | AREN| B 2 2,000,000
28 AUR—=I KR o2 | R | WG 2 2,000,000
29 T AXIIHH 2 | PATEE | KOt 2 1,975,000
30 Tr7AY—T VA g2 | AN R 2 1,960,000
31 TN—kL7 o2 | IR IR 2 1,950,000
32 TXE 2 | SEHEBT | K 2 1,850,000
33 T A= t2 | IEE | K 2 1,850,000
34 RIVLT FATF ¥ — o2 | BEATRD | KO 2 1,600,000
35 77— ARF A 2 | WA | WE 2 1,500,000
36 XAX Ry g2 | A LEgE| KOt 2 1,125,000
37 Fyo T 4vR 2 | BRAR—| K 2 1,080,000
38 SARY—H—VT o2 | HARE | IE 2 1,010,000
39 =T ATV R M2 | A EFE| KIE 2 935,000
40 VN TF o2 | YETFHEE | KO 2 875,000
41 INO—hTAT T o2 | EARE | G 2 600,000
42 n—L 7Tk o |[HIA%E| Kt 2 410,000
43 V775 o2 | B | KR 2 320,000
44 ALHE—T1A 2 | YEFHER | KO 2 0
45 TFITAT T o2 | B | KR 2 0
46 H—F3 o2 | YETFHEE | KO 2 0
47 DNNF— T g 2 | 8ARE| K 2 0
48 A— )N AN — 2 | ZAEf | KIF 2 0
49 77— ARNT L AR B2 | il | ORI 2 0
50 | 774X PR S 2 0
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